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This scheme was launched by Haryana 1. @i 1
1. :gre;n:ent to increase green cover in I ?ﬁ?ﬂa'fffl I agH & e & N
(ilis btate (A) Tiad e
{A) Parivartan Scheruu‘ o e -
{®) Paudhagiri Campaign o ‘@Iliﬁl ! l'

TC) Bhoomi Niyojan Yojna
(D) Vraksha Suraksha Campaign |
o - faveia Amean e ® 7

2. Which marking media is poisonous ? .
(A) White wash (A) EIT'&’E i
(B) Prussian blue (B) gm Hren
(C) Copper sulphate w1 w FFE?E? \
(D) Cellulose lacquer (D) TSt ol a? i o
3. Maratha culer had built a 3. W@ ImEs | m =+ HesG ﬂ
fort in Mahendragarh in Haryana. e fehen FHETE |
(A) Sayyag Rao (B) Sadashiv Bau (A) H”m?ﬁi'la (B) HETE W13
(C) TantiaTope (L) Shalay AT 21 (D) IITETSt

4. Which number will come in the place of O WA-Tag & w4 W - g S ¢

question mark ? (0'% ;
SETENE/aNg 5 5 6 ? -
4 6 5
g 2

4 G i =
A 6 (B) 2 A5
(C) 8 (D) 11 (C) 8 (D) 11
; 5. What is the term used to refer when both 5. Wﬁﬁﬁ@ﬁﬁﬁﬁ#ﬁﬁqmﬁ
valves are in open position ? wehia e ?
(A) Lead (B) Lag (A) 3wl (B) 13
(C) Overlap (D) Advance O Afa=aTea (D) Hfam
6. This Haryanvi actor is noted for the role of 6. 39 EfE FAEr F:i =7y # g
Shahid Khan in Anurag Kashyap's Gangs mﬁﬁfﬂ'ﬂtﬂmﬁﬁﬁ F foru T
of Wasseypur T
(A) Yashpal Sharma (A) gITTe STl
(B) Om Puri (B) 3w it
(C) Yash Tonk (C) a9 2=
(D) Jaideep Ahlawat WS ST TEeATad

7. The value of tan1°.tan3°.tan89° tan87° ia 7.

t ]5_ AN 0. 1 o' ~a
(A) tan (1+3+89+87)° an1°®.tan3°.tan89° tan87° F 7H 8

(A) tan (1+3+89+87)°

o B) 1
et el (C) tan (1%3x87x89°)
(D)0 (,Dﬁ 5
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15. Indira Gandhi University in Haryana was

located at

(A) Ambala (B) Karnal

(C) Hisar (D) Rewari
16. H - O —H bond angle in water is

(A) 106.3° (B) 103.5°

(C) 104.5° (D) None of these
17. Which part is produce electricity in a

vehicle ?

(A) lgnition coil
(I}) Starting motor
(") Alternator

(D)) None l._Jt;lllt"-hr'

18. The only engineering college of Haryana

when it was formed in 1966 was situated at

(A) Panipat (B) Hisar

(C) Kurukshetra (D) Gurugram

19. Which of the following ir incorrect ?

1
(A) sin0 = = (B) cosB =0

(C) sech = (D) tanf = 100

ta |~

20. Which part in the fuel injection pump
compress the diesel ?
(%} Governor

((!) Sleeve

(B) Rack rod
(D) Plunger

21. In support of Freedom Movement, who
published a weekly paper, ‘Haryana
Tilak’ in Hindi and Urdu ?

(A) Sucheta Kriplani

(B) Ram Singh Jakhar

() Pandit Shri Ram Sharma
(D) None of these

(X

15.

16.

17.

21.
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3o it Fereaferamrer &ftamon & i

fem R

(A) STHTE (B) FATA

(c) feam Of @ErE
FATH -0 - H =Y Fm 2

(A) 106.3° (B) 103.5°

(Cr 104.5° (D) 3T & F18 TE
ﬂn—mm@mﬁﬁgamﬁam% ?
(A) FEA Feall

(B) T=1fdn wrer

(f TeIEtad

(DY A #1378

1966 1 EfeEmm F w94 % TEg T
THAHE SS-EIT HETaarerd 4 f=eE
o1l

(A) WG B) fear

(©f FoE (D) TEITH
fafefEasasR-mwEm e ?

(A) sin0 = —% (B) cosb =0

(¥ sech = % Mtam]: 100

S AT Y F FH-FT 9 ST
ofiffsa Fwan & 7
(XS T

(B) 3= 18
(C) | :

(D) =

HAAdl Aeler & guda §, fe & e
32 | wframn foom ararfes w3 w1 wFEE
o 7

(A) F= FTEAH

(B) TM fie sraz

«of ifga sfrom wmot

(D) T | F1d 78




22.

23.

24.

26.

27.

28.

29.
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Limestone, mica, gypsum and mineral fuels
like coal and petroleum are called as

(A) Metallic minerals

(B) Non-metallic minerals
(C) Ferrous minerals

(D) Non-ferrous minerals

Which part is atomise the fuel into engine
cylinder ?

(A) Injector (B FIP

(C) Governor (DY Feed pump
__18 known as Cherrapunji of Haryana.
(A) Rewari (B) Sirsa

(C) Ambala (D) Chhachhrauli

How many pairs of letters are there in the
word TUTELAGE which have as many
letters between them as in the English
alphabet ?

(A) One

(B) Two

(C) Three

(D) More than three

What is the material generally used for
manufacturing inlet manifold ?

(A) Aluminium alloy

(B) Copper

(C) Steel

(D) None of these

Which district of Haryana has the highest
literacy rate ?

(A) Bhiwani (B) Panchkula

(C) Gurgaon (D) Faridabad

An electric iron of resistance 2092 takes
a current of 5A. Calculate the heat
developed in 30s.

(A) 1.5 x 10%] (B) 1.5 x 10%)

(C) 1.6 x 10" (D) 1.5 x 10%])

1/2020 (18)
A
22. T{mw a1z, o s e S
FHA IATGATIR  FEerd B
(A) ﬂTf:rcEFto.’ﬁa
& raifeas afts
(C) E"ﬂ'ﬁ@ﬁﬁi
(D) 3TEE @i
®. Fr-a1 9 39 e J $9 i wnga
FAE 7
(A) Fd:&TF (B) UF.315.491.
(C) T O $rg T
24, 1 gfETm 1 SISt Fe1 a8 |
(A) wrEt (B)
(C) raren @ Bt

2&.=e.'1!l!lTEIZAr‘FW*3 T o T T qm 2,
S A T A e R e SISl =i
AT d=EE e 7
O TF
(B) =1
(C) &=
(D) 1= g a1fus

26. FI-H1 g2Td WW=E: e dfAwieE
fmtor 3 foro sy forar ST & 7

(A) Tt fagrg

(B) dfan
(f i
(D) 398 g TE
27. ftmn § ge) st aerar aen fSen S
87
(A) FarH (B) gl
NS T (D) HeEE

28, Wfatm 200 i o frega sew 5A i faga ot
&\ 30 dee 1 fapfem e ) 7o )

What is called the distance between TDC
to BDC?

{A) Stroke (B) Cycle

(C) Power (P) Torgie

(A) 1.5 % 10%] (B) 1.5 x 10%J

(©¥ 1.5 % 10°) (D) 1.5 x 10°J
@D Frdh i 3o ) gl 7 e B 7

CY 11D (B) I

(C) wifF (D) 30} &

=5- X \§: D
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Which helps engine at high altitudes
where the density of air is less 7

(A) Air cleaner
¢B) Vane tyvpe exhauster
AC) Impeller type exhauster

(D) Turbocharger

Broad flat steps or terraces are made on
the steep slopes so that flat surfaces are
available to grow crops is called as

(A) Terrace Farming
) Rock Dam
(C) Contour Barriers
(D) Mulching

_go 2o
Which one is strong electro m;agneiic
switch in starting system 7

(&) Starter switch

(B) Solenoid switch

(C) Ignition switch

(P) Starter push switch

You are in a bus. The bus reaches your
stop, but still you have not purchased the

ticket because of heavy rush. What will
you do ?

(A) Jump out quickly to avoid
embarrassment

(B) Call the conductor, give him money
and get the ticket

(C) Hand the money to fellow
passenger to buy ticket
(D) Give money to the driver

Which type of lubrication system used in
two stroke engine ?

(A) Dry sump lubrication
(B) Wet sump lubrication
(C) Petrol-oil lubrication
(D) Splash lubrication

1/2020 (18)

@ F-T1 SATEE] 91 35 ) HEId] T & Jel

38.

40.

41.

g 1 T FH AT R ¢

(A) I F=BF

(B) ama faresias vam &1 I

(C) UfE waw T FEIET

(D) ZETETSH

ST 2 A wEel 3WH & for e gy

EFFE 309 B A, FeeTd &l
W 4G wIft

(B)ﬁaﬁﬁh - oEa e rl
@@FgaEg

fae?

(A WIS fe==

(B) wfenferfira fe=
(C) 3& feaw

(D) =& g faw

ST U 7E A €| 99 AT Taed F 98 T

®, Sfeha =78 3§ 9 +fig 219 & Hror a7 et

T A9 fee 7 & wra &) sy =y 0 7

(A) 37 8 =1 % fou et & amse 32 1
Bl

(C) 39 @reft Amsht =1 feepe o & oo 5w
280

(D) SR FTFH 232

e 9 4 -8 ven F1 Sy et
T B @ 7

(A) T B eq

(B) 313 &A1& =req

(O T -de SreA

(D) fFewm =
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50.

bl.

What is firing order 7

(A) Sequence of power stroke
occurrence

(B) Sequence of suction stroke
occurrence

(C) Sequence of compression stroke
occurrence

(D) Sequence of exhaust stroke
occurrence

What is the full form of HVPNL in
Haryana ?
(A) Haryana Vidyut Purchase Nigam
Limited
(B) Haryana Voltage Purchase Nigam
Limited
(C) Haryana Voltage Prasaran Nigam
Limited
(D) Haryana Vidyut Prasaran Nigam
Limited
52. A die is thrown once, the probability ofd.

getting a prime number 1=

1
(A) -
)3

(C) 0

(B) 1
1
(D) 3

53. What is the term used to refer when a

valve closes after BDC ?

(A) Lead (B) Advance
(C) Lag (D) Overlap

54. computers can work on small
volume of data, are very versatile and can
handle variety of applications.

(A) Micro (B) Super
(C) Main frame (D) None of these

55. What is the name of the diagram ?

(A) Injection timing (B) Port timing
(C) Valve timing (D) Ignition timing

9

@ i 1 FH TR 7

51.

').?.

8

54.

172020 (1%

(A) SIfF STETE B &1 &

(B) U1 TG EH &1 FH

(C) |died 3TETE & =

(D) FEE ST E 61 FH

afrmon & w= A A T T, = E

(A) gf(a'{trnﬁgﬁmﬁﬂﬁ%ﬁ%g

(B) i@ drees w=E frm fafide
- 0) Eﬂawnaiéamﬁwféﬁés
{@mﬁgamﬁrm%ﬁ??

U U] F1 U "0 Hel A6l R, UF A9
AT 9T &4 & Wil &

@1 1
1
(D) 3

1
(A) 3
«©) 0

it F 712 v afea & a2 21 &1 R4 wee
Jogia s 7 .
(A) qroft
(©) 3

Wy Am
(D) sfer=ra

S FH YEE 52 W HH
= T Tga & wggE v € oin fahe

HITATT F1 BT T 21
(X TSR (B) g1
(C) ¥ FH (D) 3785 F F13 Tel

(A) 39490 gog
) Fiea 99

(B) 9d4 599
(D) %4 993
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63. What is the purpose of EGR (Exhaust Gas | 63. 3 S, (e | e aied
Recirculation) valve ? F IR 7
(A) Reduce NOx (A) NOx F1 31994 Fa1
(B) Reduce CO (B) CO &l AT F1
(C) Reduce CO, @f CO, I SATarad
(D) Reduce SO, (D) SO, ST
64. Bhiwani district of Haryana was formed | 64. o =1 faar foemmad  "da
in the year B) 1972
(A) 1966 (B) 1972 (1) 1966 (%) 102
(C) 1973 (D) 1979 (C) 1973 N 1979
65. The Rajya Sabha functions primarily as | 65. TS @91 1 F14 wdE 9898 ¥ WgibE §9
the representative of whom in the Indian a b wfafafa g 7
Parliament ? =i
(A) Ministers (;;‘;
(B) President i C ' :
(C) Prime Minister IR (C) wart
@) The States of India (D) 97 = T4
66. Where the diesel fuel is obtained 66. <IeTd 399 Fal Wi fF S e ¢
(A) Crude oil QO F=1 7
l&) Vegetable oil (B) Faafa de1
¢C) Animal oil (C) v de
() Synthetic oil (D) Ffm 9
67. mosque was built by Babar after 67. Hﬁ%ﬁ AT EAT S Sfe 9T
his victory over Ibrahim Lodhi. forera e 3 & A= == T
(A) Kabuli Shah  (B) Lat Ki Masjid (P E IR (B) &4 &1 afeag
(C) Anjuman Jama (D) Lal Masjid (C) HASm= (D) =T uisTe
68. The Articles authorise the 68. o= H9g 1 99 T U9 F
Parliament to protect persons in the e 1 =gfa = Oreter 1 % anH IRTTF
service ‘ul' Union or a State m respecl.nf mr@ﬁ‘m ﬂﬁmm#mmm%
any action taken by them during martial gt
1 e Ty | HE WA F 8
aw to maintain or restore the order.
(A) 32 and 33 (B) 61 and 62 (A) 32 3T 33 (B) 61 3N 62
(C) 33 and 34 (D) 73 and 74 (1 33 3 34 (D) 73 3T 74
69. What is the reason for decrease the | 69 Wmﬂﬁﬁmﬂﬁﬁﬂmﬁaﬂ“ﬁ
volumetric efficiency in the exhaust = HAOT TS 7
?:‘:t?m; noise (D) # 7
i A) .
(B) High temperature (B;) 3= aHE
(C) Excessive back pressure (@ Agfer vk 4
(D) Low temperature (D) o= A=

-11- D
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h6.

617.

69,

60.

61.

Which 18 the western-most district in
Haryana ?
(A) Panipat (B) Jind
() Sirsa (D) Fatehabad
62. The historic Quit Tadia resolution
was passed in the Congress Working
Committee meeting held on 14 July
1942 at
(A) Caleutts (B) Wardha
() Meerat (D) Nagapur
D
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Which of the following city is recently
renamed as Ayodhya ?

(A) Fuzabad

(1Y) Banarns

(C) Allnhabad

(1)) None of the above

Which Class of fire involves wood ?
(A) Class ‘A’ fire
(B) Class ‘B fire
(C) Class ‘(" fire
(1 Class ' fire

IKMI? express stands for
() WKanthal - Manesar — Palwal
(B) Kundli= Mewat — Palwal
(€ Kundli - Manesar _
(D) Karnal - Manesar - Panipat
A is a temporary unit of
memory in the CPU, '
(A) Control Unit (CU)
(B) Arithmetic Logic Unit (ALU)
(C) Registers
(D) None of these

Where 1s turbocharger mounted ?
(A) Exhaust manifold

(B) Inlet manifold

(C) Air cleaner

(D) Cylinder head

-10-
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56. Aofefaa d @ fFg PR A AW T & 4

AT TET T ¢
(A) FomErE

(B) FARH

(C) FTETETR

(O 3T § 8 F1E T

57. ifel 1 g Aol i o it & 7 Sefud

W aofi A 31fa
(B) #vft ‘B’ 31f=
(C) #oft ¢ #fH
(D) #oft ‘D A=

58. #.un i vem = fEwnia =g

\
i~
059,

61.

62

(A) A -OHE -Tode

m} et -t - e ae
W FEA-AHH -TTaA

(D) HEATT - TS -9

; Hidig & dut i w STt g
|

(A) 2 qfz (wrg)
(B) Tiaufess @it iz (vuery)
(C) =g

_ @f 30 7 = 3
(60 zatarsi =l e ST £ 7
(A) s e
(B) T2 Afwies
(C) 91 THwaFw
O etz vivd
wfmm 4 wag ot Sen #-mi 7
(A) arTaa (B) fo=
o o (D) FdEMETR
1942 T ayfeE

mmmﬁmamm
Wrar T ) i faE )
(O T (B) =4l
(C) W3 (D) AT
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70. was the first institute of higher
learning to create a separate college for
sports in India.
(A) HAU, Hissar
(B) NIT, Kurukshetra
(C) Punjab University, Chandigarh
(D) None of these
utility scans for file that have
not been accessed/used since long.

(A) Backup

(B) Compression

11.

(") Disk cleaner
() Disk defragmenter

72. What is the name of the indicator ?

\:/ Taiy
' !

/
|

) Dead bulb

(B) Cruise control
(C) Traction control
(D) Stability control

73. Isoelectronic species among the
following is
(A) O, Mg*
(C) Na*, Ca*

(B) Fe, Cl2

(D) Mg*, Be2+

74.  Which electronic component ;
solid state switch ? ponent is used as a
(A) Inductor

() Capacitor (I) Transistor

Who among the following politiciang of
Haryana had served a8 the 6% -[.'{'}‘P“t}’
Prime Minster of India ?

(A) Chaudhary Devilal

(B) Om Prakash Chautala

(C) Bansila)

(D) Sir Chhotu Ram

(B) Resistor

75.

S

D

=12-

1/2020 (18)

70. W A Gell & 170 Ush 37 Helfaaned

71

FAHETEN FoIa FY1ET 1 YEel HEIH
o

&) Ty, fram
(B) T T3 1, FedA
(OREIE]

Oy 9 =% Tef

%ﬁﬁaﬁmﬁm/wqﬁmw
|

(B) FUIH

(C) o= w1t

(D) fe== S

] E]*‘l lg.

@} TEaF T A e 7

73.

\6/
v
| N\

(A) Tz ew

(B) gfrgmor oy
(C) FHv1 e
(D) T e

fefafaa g g AR Tt 2
(A) O, Mg2 (B) F=, )
() Na*, Cav (D) Mg?**, Bez-

& ¥ 5 WA o s & 7

(A) 3fa 7 whirinrs:

(C) writan (D) Zifser
frefatas i 4 #am F frm i
m;aéasa‘fm—wmﬁaﬁ%mqmé,—;
NG S Fefterre

(B) 31 werer <ftoren

(C) Tt

(D) = 3R g
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42. In which of the following districts of

43‘

44.

45,

46.

47.

48.

49.
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Haryana National Bureau uf A.nimnl
Genetics Resources 18 situated in ?

(A) Faridabad (B) Karnal

(C) Kurukshetra (D) Gurugam

Pascaline machine was made up of

and was used for adding numbers
quickly.
(A) Gears
(B) Numbering rods
(C) Beads on movable rods
(D) Stepped cylinder

Which is chemical Hazard ?
(A) Noise
(C) Vibration

(B) Explosive
(1)) Radiation

(A) Pandit Jasraj

(B) Syed Kasim

(C) Jayanarayan Kaushik
(D) Parul Gulati

‘Maati ka Mol is written by _

Who was the first Vice President of
Republic of India ?

(A) Dr. Sarvepalli Radhakrishnan

(B) Dr. Zakir Hussain

(C) Varahagiri Venkatagiri

(D) None of the above

Which nut provided with Nylon ring in
the groove ?

(A) T-nut

(B) Castle nut
(G¥ Slotted nut

(D) Self locking nut

hoeru is Brahmasarovar lake is situated
in Haryana ?

(A) Hisar (B) Bhiwani

(C) Mewat ) i

(D) Kurukshetra

Which number will

question mark ? ¢ome in the place of

2 4 6

3 1 4
- 12 22

16 17 2
(A) 32 (B) 19
€y 21

(D) None of these

42.

43.

44.

45.

46.

48.

49.
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e i @ g @ £t 5 T
i TR wEe =g e

(A) FLIETES By

(C) T (D) TEIH ,
ﬁﬁmmﬁq_____ua:ﬁ?ﬁﬁﬂﬂw
demaT 1 aen @ e & fere fon S
1|

(A) T

(B) Tl BT

() W.Wq‘fiﬁg

W = fafast

F-g1 7A@ e

(A) TR @ faepes

(C) F97 (D)

mAETE e )

%Y ;‘%ﬁmw

(B) FIHH

(©F SR R gﬂgﬂfgﬂ

(D) TE ATl

ARAT T 1 Teedl ST i o7 7

R S, HelYeet! TTHH

(B) 1. snfept g8
((t)atrgﬁrﬁ Eorats
(D) 39T 8§ | 1 7
@i § T 72§ et o g 2 7
&) A-72 (B) ¥e 72
(Cf g T2 (D) = dreTEe 92
BT & SRR T e e 2 7
fﬁ)ﬁqﬂ (B) ﬁ:ra-r;ﬁ
A - & v w # - wht e s 7
3 1 4
“) ]2 22
|15 17 231
Wy 32 (B) 19
(© 21 (D) 398 & Fré 7
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English Language

In the following question, a sentence has
been given in direct/indirect speech. Out
of the four alternatives suggested, select
the one which best expresses the same
sentence in indirect/direct speech.

My friend said to me, “Has your father

returned from Calcutta ?”

(A) My friend said to me that my father
has returned from Calcutta

(B) My friend asked me if my father
had returned from Calcutta

N My friend told me that my father
had returned from Calcutta

(D) My friend enquired me if his father
had returned from Caleutin

Read the sentence to find™ ouf whether

there is any error in it. The error, if any,(|"

will be in one part part of the sentence, mark,
of that part with error as your answer.

Sita is/more intelligent/ than all'of/

(A) By~ (&)

her sisters
(D)

Pick out the nearest correct meaning or
synonym of the word given below ;
HONORARY
(Ar honest
(B) dignified

(C) unpaid
(D) praiseworthy

Add suitable question tag to the following.

Today is Sunday, ?
&9 isit

(B) isn't it

(C) was it

(D) wasn't it

1/2020 (18)

&=t wrman

87. WETE AN 1 3aTe 2

B8.

89.

90.

wfewrt Sit fe 2 o1 e g A H|
art 3 it 93 U ||

A ITIE

(B) 719

»(C) 3741

(D) ¥4 9 1$ TE

form wuwage #1 I99E WHE B4 €, 39
_OOTE FEd B

Uy e tW?IT-‘lFI

(C) wEsiiel ~ (D) 58

S FEE T geETat 1 HY 2l
O Y T WS

(B) #1Y ® 2@

(C) 3R T94 T

(D) 374 | g 7

(A) B % 5w = @ of quama 4 el
F % T 1 T A

& o5 % o w0 @ 7w sig &1 5
w14 +id gT T | Fra, wig R F o
a7 gan

(C) #id g Ewa T % F | w9 A 0 4
& 1 1 8

(D) FHAAFETE

-14-




76.

11

78.

BO.

81.

82.
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Gandhi-Irwin Pact was signed on

(A) 5" March 1930

(B) 5™ March 1931

(C) 5 April 1931

(D) 5* April 1930

Which instrument is used to check the
right angle ?

(A) Steel rule

(B) Try square

(C) Firm joint caliper

(D) Spring joint caliper

Which country was partnered with Haryana

Government to set up Horticulture Project
in Karnal district ?

(A) Israel (B) Japan
(C) France (D) USA
L.LDCBE : LHIHY :: FKGEA :

(A) FVUTE (B) FXTXB
(C) FVTRD (D) FTRPQ

Which gas is harmful to human health ?
(A) Nitrogen

(B) Water Vapour

(C) Carbon-monoxide

(D) None of the above

In data is written on these
disks at the time of manufacture.

(A) Compact Disk-Rewritable

(B) Compact Disk-Recordable

(C) Digital Versatile Disk

(D) Compact Disk-Rom

Where the metal fins are provided in the
air cooled engine ?

(A) Cylinder and head

(B) Exhaust pipe

(C) Valve door
(D) Intake manifold

-13-
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76. M- iR T Ea T fFu U g ?

(A) 5 HTE 1930
(B) 5HTH 1931
(& 5 30 1931
(D) 5 31T 1930
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30. Who wrote ‘Haryana Ka [tihas' ?

(A) Ram Singh Jakhar
(B) Pandit Shri Ram Sharma
(C) Pandit Neki Ram Sharma

(D) Banarasi Das

The year of accession of Chandragupta
Maurya as Mauryan rule

(A) 321 BCE (B) 320 CE

(C) 718 CE (D) None of these

31.

32 Which device converts mechanical energy
into pneumatic energy ?
() Actuator

(C) Alternator

(B) Generator

(1)) Compressor

33. The temperature at whicha real gas obeys
ideal gas law over an appreciable range
of pressure 1s called

(A) Avagadro point (B) Charle’s point
() Boyle point

(C) Dalton point

34. Which is the engine adopts hand

cranking

(A) Small engine

(B) LMV engine

(C) Heavy vehicles
(D) Stationary engine

35. Who led the revolt of 1867 in the Hisar
district of Haryana ?

(A) Kadam Singh

(B) Mohammad Azam
(C) Bahadur Shah
(D) Wajid Ali

36. The human eve forms an image of an
object at its
(A) Cornen (B) Iris
(C) Pupil (D) Retina
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What is the material of piston pins ?
(A) Nickel chromium steel

(B) Cast ron

(C) HES

(I Bronze

In the year . Seth Chhaju
Ram was elected as a member of the
Punjab Legislative Council from Hisar
district of Haryvana.

(A) 1920 (B) 1927

(C) 1935 (D) 1937

The Disputes between the States are
settled by ~

(A) High Court only ' i
(B) High Court and Supreme Court
(C) Special Courts

(1 Supreme Court only

What is the main purpose of the
lubricant 7

(A) Minimise the friction

(B) Increase the friction

(C) Increase the wearness

(D) Increase the noise

18 the highest award of Haryana
State Government for the Outstanding
plavers of Haryvana.

(A) Bhim award

(B) Maharana Pratap Award

(C) Rani Laxmi Bai Award

(D) Guru Vasisht Award

The value of i* + 17 +i* + % is

(A) 0 (B) 1

(C) -1 (D) None of these
Which fuel related with cetane numhber ?
(A) Petrol (B) Diesel

(C) Coal (D) Kerosene
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